Combined Graduate Level Examination Tier | 2022
Roll Number www.govtjobsalert.ln

Candidate Name [www.qgovtjobsalert.in
\Venue Name iON Digital Zone iDZ Tatisilwai

Exam Date 06/12/2022
|[Exam Time 5:15 PM - 6:15 PM
ISubject Combined Graduate Level Examination Tier | 2022

Section : General Intelligence and Reasoning

Q.1 u® FAfyd ge Yo § “TECHNOLOGY’ %1 'NHCETOLOGY’ & &U ¥ forr oI g,
‘GENERATION’ 1 ‘RENEGATION’ & =0 ¥ forar SiTdr g1 St HIST & ‘APOCALYPSE’ &Y

59y R ferar smem?
Ans «” 1. ACOPALYPSE

75 2. ACPOALYPSE
#< 3. AOCPALYPSE
75 4. ACOAPLYPSE

Question ID : 26433068238
Status : Answered
Chosen Option : 1

Q.2 e fAf3d e HT #, "ABROAD' H! 'DFORDH' fr@T SITdT & 3R 'ACCESS' %1 'DGECVW'
foraT SITaT 8 1 39 HTHT & 'AGENCY" &) 9 forar smem?

Ans X 1.DJNEFB
/5 2. DKNEGC
«” 3. DKNEFC
/< 4. EKNEFC

Question ID : 26433066022
Status : Answered
Chosen Option : 3

Q3 Frr o & O B AT renEr-areeT Rutaar gutE S ¥ TEam 3 e gy
T el & AUlT Fos 9T HiA-Hr TEar gen?

P

Figure 1 Figure 2 Figure 3
Ans X 1.2
K24
< 3.1
& 4.5

Question ID : 26433081531
Status : Answered
Chosen Option : 4




Q4 A-BFTAIRfP A, B AT
A*BHIATRfF A, BT
A%BHTAIRfF A, BRTUAR
A$B$ranf%ﬁs'A B?ﬂg’z’%
gfipP-Q-R* ssT%a‘TPmTﬁwqw%?

Ans X 1.yt
2.9
X 3. 951
X 4.7

Question ID : 26433059899
Status : Answered
Chosen Option : 2

Q.5 I faey &1 g ®3 ! uiEd] Ten & 3¢t UeR Haiid 8 9 yer gad Sen ugedt
e & Gt 2 v 9t den St ven @ w6t 2
7:13::16:31::46:7?
Ans X 1.97
X 2.83
X 3.81

 4.91

Question ID : 26433067649
Status : Answered
Chosen Option : 4

Q.6 TEm3l ¥ fAun g &1 T B (W 3 GBS B ITH JueH il | fauria fry
e, qof wemasit w fpant fArefed Y ol Tnfdu | Serevur *13" - 13 R |ihart o
1% 13 ® SisA/aeH AT HeAT 31fe e S w@Har 31 13 &1 1 9 3 § dis ok ok
f5Y 1 3R 3 WR N WAt A &1 srgafa T8 @)

Ans X 1.16-251
X 2.17-284
X 3.15-220
& 4.14-193

Question ID : 264330105089
Status : Answered
Chosen Option : 4

Q7 39 P Ig B R FBmd sy # 3 veR Tafta § o ver frafafeaa
| 5t IEIE e # Helid g1
(Fite: T B 9P ed il | fyurima fory fam, gof wemsit wr nfvrdig wfeang #t
ST T1RT | 3STER0T & g 13 - Kty Tfrane SR % SisAae AN 31 3difs 13
W fpar ST gwar g1 13 B 1 3R 3 H fqurra &= iR e 1 iR 3 W nifordta Ifpramg
B B At T 71

(7, 4, 56)
(8, 3, 48)

Ans 7 1.(9,10,180)
X 2.(90, 3, 400)
X 3.(96, 42, 12)
X 4.(87,4,128)

Question ID : 26433079128
Status : Answered
Chosen Option : 1




Q.8

Ans

5! BT 7 B o Wy o § St v wafta § o yer fafafaa
S et 3 wiafera &1

(Fite: T3l Bt ITF gew il | fyutira fary famm, gof semsit w nfordg wfeang #t

ST TIRT | ISTeRVT & Y 13 - Kty Aferant 9 % SisAIae AN $3-1 3afs 13

T forar o1 Wrar 81 13 BT 1 30 3 ® fyuTfora w1 3k 67 1 3R 3 W nifvrdia wifsrang

B BN Al TE R1)

(9, 16, 5)
(7! 9! 4)

2 1. (14, 100, 5)

X 2. (12, 66, 4)
X 3.(14,64,7)
& 4. (11, 36, 5)

Question ID : 26433070235

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q9 =y & oTE HT SEen F 3T T W HE el AR F TIT

Ans

Eire |
—AQn
¢ 7

Nte|l en

£
> 1.

R

€
& 2.

X 4

)
&< 3. T

€

[\ €
X 4 P

Question ID : 26433068470
Status : Answered
Chosen Option : 2




Q.10 fraferfd uy & § € g@en & A gw 3P wd PR

5103, 1701, 567, ?, 63, 21
Ans 7 1.189

X 2.169
&< 3.170
X 4.265

Question ID : 264330105022
Status : Not Answered
Chosen Option : --

W o @ fover R & 3R MY T TE @, Rw T w5 ae A

T guur wfafaT @ T3 w1
M

Ajr79b
N

A s deviiA
X2d6V1jA
X3 beNriA
x4 QeYJ[A

Question ID : 26433068196
Status : Answered
Chosen Option : 1

Q.12 T 3rgepH foam T 2, Fored & v ue qw 21 g e fawent # & 5 wet fwew gfg, St

ST B TR B
ABCD, FVJV, KPQN, PJXF, ?

Ans X 1.EQRT
X 2.RQTS
« 3. UDEX
< 4. UDQE

Question ID : 264330104826
Status : Answered
Chosen Option : 3




Q.13 9 Py 3R ITF q1¢ i ey waie |, 1 3R 11 fE 1T & | FY=Y B W A g, WA
B A U R 7 al ¥ i wedta g g, ofa w9 f s s fred arfde wa
[ FYFI BT FHIU BB 88 |
DY
T Sad dierr g1
PYs diferar afear A8t g1
[t diad Fie {1
frem:
. $O Ple difear g1
Il. PIS Ple dAferar 781 81
. $2 Tiad afpd &1
Ans X 1. %ad e || STER R B
X 2. P | 3R 11 G SR R B
3. Paq Y | TR HRAT G|

X 4. 71 A Fad e | 1 Had ISR 11 SR FRT B

Question ID : 26433069187
Status : Answered
Chosen Option : 3

QA gRLxMBTII B L, MBTaAIe, L+ MBTII P L, MR, L maT S R
gL,Maﬁm%,a}ﬁamaﬁﬁaﬁqmmugﬁﬁmm%ﬁwjmﬁm
Ans X 1.Q+P=+R
& 2.P+Q=R
X 3.P+QxR
X 4.P+R+Q

Question ID : 264330104966
Status : Answered
Chosen Option : 2

Q.15 i fou TU Y ¥ $© FYF 3R ITF q1¢ 31 HYA! W uTRa o Fepd few 7w §1 faw
T FY! B T A, YA & ITH ITATIG: T a2 § firerar 811 39f freed v ik f
fruifea o3 i F19 § e, 1T ¢ FY=1 1 afde 0 F TR HA 81
DY
LW R, P&l
.M R, Q
foreed:

L PEP, QTR
I.®ER, P BI

Ans X 1.1 TYT Il S AR SER0 BRd §
< 2. Haq (bt |, SR FHAT §
X 3. Pad By || 3TER BT §
o 4. D15 W Fshe SR 78 aar g

Question ID : 264330104918
Status : Answered
Chosen Option : 4




Q.16 Fafafaa & @ #1991 sieR-ugg & 7S @an § yafig (?) & WM W M
ACFD, CFHG, ?, GLLM, IONP

Ans X 1.FlJJ
X 2. EIK
X 3.EJJK
« 4. ElJ

Question ID : 26433059861
Status : Answered
Chosen Option : 4

Q.17 T Y <! F1 SIS AP b AR AR HIA & YT, B AT g A I
TR 3{TEIM?
1. Chocolate
2. Chocoholic
3. Chocolaty
4. Chocolatier
5. Chock

Ans X 1. Chock
< 2. Chocolatier
25 3. Chocoholic

«” 4. Chocolate

Question ID : 264330104907
Status : Answered
Chosen Option : 2

Q.18 gw_ﬁam;rmaﬁ,wﬁ%ﬂﬁwﬁaﬁwﬂﬁa%ﬁmwmwwﬁw
(<reat 1 3refyut SRS gl & =0 & urHr ST WfRT ok 38 Weg A SigRY @t W=/
O] P BT/ TR B YT F 3MYUR R TP g § UG 6l [T S A1)
e : et :: sreara: 2

Ans X 1. &\
o 2. TS
X 3. SlaR
X 4T

Question ID : 26433056809
Status : Answered
Chosen Option : 2

Q.19 Y 3 R aur Tl # u" ¥ WER geaq W, Fafif@a & § o9 ar wiieor
T § STE?
+dYT —, 7 dUT 6

Ans X 1.7-6x3+4+1=8
K 28x7+5+1-6=17
& 3.4x7+6-3+1=20
KA47x2-6+4+2=13

Question ID : 264330105132
Status : Answered
Chosen Option : 3




Q.20 T TTg Tt & # gl 1 Biire 0 A geaq iR THiEur B Agferd w1 & g
frafafaa el # G TR gl & 9 JuieE 1994 Fim|
[{(44#38)# (2#5)} # (A #2)]#5#10

Ans X 1. + x x & x =

‘,2__’ +, X+ X X =
KBox, X, X, =
K Aox s X X = 4 =

Question ID : 26433087057
Status : Not Answered
Chosen Option : --

Q.21 7o fagl & 9 T FaIoH &1 999 B3 O e U Rl F "M RI@A R
e T iU Hqfera €1 sem|
25*%2%220* 11 * 43

Ans X 1.+ - x =
V2_—y+,+,:
K3+ + =
KN4+ - s =

Question ID : 26433068568
Status : Answered
Chosen Option : 2

Q.22 I TR seR-TaeHl # J o4 fdt fAfda a8 3 99 § 8iR 39 USR U 398
T &1 P9 AT eR-TA 39 T I Yafir 781 872
Ans X 1.XZCA

X 2. UWFD
X 3. PRKI
4. JFOQ

Question ID : 26433081502
Status : Answered
Chosen Option : 4




Q.23

Ans

36 fawey iy & 907 Ft owd e # & 7wy BRa §
(gFmer gt 7 2

Pl "™
"

<
N
P A

X 3.

Pl
W

X

&
2
e

k

Question ID : 26433067437

Status : Answered

Chosen Option : 2

Q.24

Ans

I RApey BT 99 P o AN Tt | IW TR Tefia & R TR g8 I vga
Ieg A Gaftra 81 (wredi @1 iy &) Wl & wu § wren o =Ry ok weg #
SigRI/HSHIRGRT P T & YR W TP g8 A waferd T8} far s =fey)

N : ggfa g = wig: 2

X 1. Yo
X 2. BitRe

X 3. Waafdg
4.5 fasr

Question ID : 26433067813

Status : Answered

Chosen Option : 4




a2 ffw 7w fasredt & ¥ 39 pla & 994 F A1 T nefa-gy@en F
TeARE (?) ¥ FUF 9 AT TFAT &7

VIV XXX ?

S
| &
R
x4 xgk‘

Question ID : 26433080512
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 fafifed § | F19-80 d@e Ta Aot TorT 59 | Tefta TE 22
Ans 1 EISIRR

& 2. TRET

X 3. sifgan

X 4. Harg

Question ID : 26433054318
Status : Answered
Chosen Option : 4

Frafaf@a # | fea 32 7 2010 § Herebreli gar iieifie Wl & Tgd HHor Bt

Q.2
Ao @1 A2

Ans X 1.d9
X 2. 3T
X 3.9
o 4. RIR

Question ID : 26433059412
Status : Not Answered
Chosen Option : --




Q.3 R} AR’ BT AR et & & frw wdmar F A far 32
Ans X 1. TRER ge@Y HTS ued

o 2. TETE Tiieht

X 3. Aidiard g

X 4. 919 MR foads

Question ID : 264330105567
Status : Answered
Chosen Option : 2

Q.4 Apg IE TP 3@ @ Wi 94 3R YR F fohe Ta B 3w a3l 872
Ans X 1, S TUT HRAR

X 2. TRES
3. ST TSR
X 4. Rfden

Question ID : 264330105518
Status : Answered
Chosen Option : 3

Q5 I 3R e srgRiuT aRue &t ugeh afgen weifewre $ib s+t §2
Ans 1. ToayE BaEded!

X 2. foig swam@

X 3. T aHt

7 4. UBRIde

Question ID : 264330105342
Status : Answered
Chosen Option : 1

Q.6 Fudl gy & URA BT Irgyfa AT T A
Ans 1 15df

X 2.18di
X 3. 17di
X 4. 164

Question ID : 264330105236
Status : Answered
Chosen Option : 1

Q7 g aEd_ & wifid te YRda Tgard W e ol
Ans X 1.1900

< 2.1909

& 3. 1905

X 4.1907

Question ID : 26433085281
Status : Not Answered
Chosen Option : --




Q.8 fafafed # 3 fFa e yRdta Baa S 3w aTUEE (25°C A HW) R I AT B
STTHT gl 82

Ans X 1.7
X 2. AR
& 3. G
X 4T

Question ID : 26433092869
Status : Answered
Chosen Option : 3

Q9 1§1o%%mﬁ,ﬁm%amﬁqqenﬁqmgvﬁqﬁwm%qgwﬁr%wm
(s g2
Ans X' 1.cTTE! STE
X 2. SIE PR
X 3. =T AIRad
o 4. Tefifera Afereh

Question ID : 26433092178
Status : Not Answered
Chosen Option : --

Q.10 fafafaa & & fFg uTg &1 ST ssw & TRY § AR 3R SiviR 991 & forg foran
ST 412

Ans X 1.9
X 2.
X 3.3
o 4. TaT

Question ID : 264330105172
Status : Answered
Chosen Option : 4

Q.1 Falven fFg Nue dd | R g1 22
Ans X' 1,99l

X 2. FefeEge

& 3.9IcH

X 4. 3%

Question ID : 26433086747
Status : Answered
Chosen Option : 3

Q.12 Froafifad & | #1 a1 giva Hifd o1 asa T8 22
Ans X 1. QI IdTed H g

X 2. B9d IdeHd J i

« 3. R &1 fowar

2 4. IIRD! BT TN

Question ID : 26433064873
Status : Answered
Chosen Option : 3




Q13 TeHereiwfd_ dfRaR
Ans X 1. QTR 3T sreAerar H whruReg
o 2.gufd
X 3. YA
7 4. e ATaT & G Arnee

Question ID : 26433074846
Status : Answered
Chosen Option : 2

Q.14 3FUGTR B 3ida: af T e gRT 3= e § e forar wam A
Ans X 1.1630

X 2.1627
3. 1632
X 4.1635

Question ID : 264330105437
Status : Not Answered
Chosen Option : --

Q.15 1655 ¥ A & &l (rings of Saturn) HT IE & URd: Th & & ¥u ¥ Tl® qui vz
aqTAT Ugal SAfad S 412

Ans X 1. e SR
2. Torfeam ggeia
X 3. fedwt gorar
2 4. Tchferar Tefieh

Question ID : 26433064060
Status : Answered
Chosen Option : 4

Q.16 faqga SHef B sATawIIS TPTS 7T 82
Ans X 1. dle-gel

X 2. dfe ufa ger

3. fpadic ga

X 4. fpaare ufa ger

Question ID : 26433066457
Status : Answered
Chosen Option : 3

Q.17 YT $WT BT Fedd {5 1 A wiies 82
Ans X 1. TgwHl

o 2. S

X 3. ggraH!

2 4. Sferg g

Question ID : 26433074086
Status : Answered
Chosen Option : 2




Q.18 ool ¢t sresd fpa U IR T 3 uRig o off?

Ans

X 1. BBl
X 2. FUD

3. WA
X 4. wifeiteren

Question ID : 26433064382
Status : Not Answered
Chosen Option : --

Q.19 Jwfa fRra Tew oY 1998 & U HuUT § FHTd 5T T 11 9% T Td® A1

Ans

X 1. BYBAl
X 2. Tfogd
« 3. FHgEl

X 4. 5D

Question ID : 26433090696
Status : Not Answered
Chosen Option : --

Q.20 572022 F, P P UL F AT NIPUN ToHT = &1 718 |

Ans

X 1. feaet

« 2. Fafor yftret
X 3. WHRI e
X 4. Rafec®!

Question ID : 264330105307
Status : Answered
Chosen Option : 2

Q.21 gl § & a1 w4 Ferad 94g B e fARydarg?

Ans

X 1. 37 9gg! & qificus St & =0 § aFifepd fhar T g
X 2. 1T ¥ 3T IR WR e Bt § 1

3. TIE BUI Gl T e W g

X 4. Ul &} sravaed grarel

Question ID : 264330105369
Status : Not Answered
Chosen Option : --

Q.22 - HY T fdt avg #) ard qufar 21

Ans

X 1.am
2
X 3. farimo=
X 4 RO

Question ID : 264330105466
Status : Answered
Chosen Option : 2




Q.23 YR ¥, 3FgER SR TaaR F e Frafafea § & fra diew & siatfa oma 82
Ans X 1.9

X 2.7

& 3.TRS

X 4.

Question ID : 264330105632
Status : Answered
Chosen Option : 1

Q.24 YRT BT WAYH TRHR Bt YUITel & 1Y TP TUY JHSIar) eRifeRaes
AP die TR gl

Ans X 1.3odA™
o 2. SuE™
X 3.egd
X 4. THTES

Question ID : 26433086763
Status : Answered
Chosen Option : 2

Q.25 fpde ¥ Wy Pt Hars gl
Ans X' 1.2259

 2.28%4

X 3.2089

X 4.25%9

Question ID : 26433071378
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q.1 Tfe sec 30 = cosec (40 - 157) B, d tan 30 BT A JTd BICI

Ans x 1. \!E
X2 —]
3 1

1

?‘(4.%7E

Question ID : 26433061771

. Not Attempted and
" Marked For Review

Chosen Option : --

Status




Q.2 A & 7 arferepT 7 avgal & sifhd geu 3R ge b geu B guid 21

aF] | kT A79 | g

D 1100 500

E 700 200

F 900 500

G 600 400

H 400 300

I 500 200

J 1000 200

Tt g3 o1 3N siferd ew @ 872
Ans X 1.824.12
X 2.814.12
 3.742.85
X 4.704.15

Question ID : 264330105739
Status : Answered
Chosen Option : 3

Q3 | oy ohes Wl wH wE @ % R 7 G e ), Sl 3 GoW AR 4 AR T L2 R A o e gend)
&1 13 Ao 3& fv o 7 gy o

Ans X 1.18
& 2.20
% 3.16
X 4.14

Question ID : 26433074314

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q4 frmr ot 1995 & T FREET & Afew AW A, B, €, D, E, F, G 3t H ¥ st £ wEa v o &

HRA% ©omwow

o BRDN

cazon

020N

ae-ae & 4uf B ¥ e S Fon (F@eie =5 F4@ e
Ane @1 540
X2 56°
X3 57°

X4 55°

Question ID : 26433079792
Status : Answered
Chosen Option : 1




cm, @ AABC &1 af¥ATg ]|
Ans X 1.45cm
o 2.35¢cm
< 3.40cm
< 4.30cm

Q.5 AABC ~ ADEF 39 &N & f% AB = 9.1 cm 3R DE = 6.5 cm | f¢ ADEF &1 ufiHIT = 25

Question ID : 26433082108
Status : Answered
Chosen Option : 2

Ans s 1 52390 93
X 2.572.80 913
25 3.643.50 9,113
X 4.353.38 9113

Q.6 Tw refd #1 Fiear 6.3 .. 81 SHST A T g2

Question ID : 264330105851
Status : Answered
Chosen Option : 1

Ans X 1.3
& 2.6
X34
X 4.5

Q.7 246837 ¥ | fra-T yern 9 f% 98 13 | AUy 81 SImewm?

Question ID : 26433075271
Status : Answered
Chosen Option : 2

3R PX P TaTS JId DI
Ans P Visa
3

Vvida

2

X3 4/Ba

x 4, Y52
2

X 2.

Q.8 APQR U® TAfgaTg AYS 8 3R PQ = PR = 22 33T, QR = a T8 31 PX L QR Tifrg

Question ID : 26433075363
Status : Not Answered
Chosen Option : --




Q9 U IS, TP A9 A 4 U &1 TP TG ! U & 9IS TP 5 km P! g8 00 S 21
afe Fa 30 fFTe &1 wwg o ], @ St a1e o gRit?

X150 =
Fec

Ans

km

2. el
" 30 hr
X3 402
sec

km

4. ki
W 40 hr

Question ID : 26433071301
Status : Not Answered
Chosen Option : --

Q'maﬁmxm—nxﬂ:o%',a’rxﬂa:qa"rﬁ L 41 7 AT FT gem?

XM +x0 - xM-—xt
@ x, m, n >0 gl

A, 2mn/(x®(n? — m?)
x 2 2mn/(x"(m? + n?)
x 3 2mn/(x"(m? — n?)

x4 2mn/(x®(n? + m?)

Question ID : 26433075844
Status : Not Answered
Chosen Option : --

Q.11 TP R B P 3 TuT & 1T 23000 YA TUT C P 4 TuT & 1T 19000 FUY TS Y
UM R | YR TS W SUR 3T 471 ST A $ 3625 TUA 1o & &0 H Wi |
T Pt AP 3 T 8?2

Ans X 1. 1.5 Y=
X 2. 3 vf=ma
« 3. 2.5 Uiz
X 4. 4vfi=a

Question ID : 264330105678
Status : Answered
Chosen Option : 3




Q12 oo g & v BT 3 ¥ Soe S 2w v s sk

Ans

forta (e Tt ) Ram ar g1 SR 7 eueEs afev AR 3§
g I T 93T H 397 AT

1800 1600 1650

1600 1537 {523

1400
1200

1000
800
600
400

200

0

2015-16 2016-17 2017-18 2018-19 2019-20

By B e

aY 2015-16 HF goram # a¥ 2016-17 % SN 3 H Fhorerd gefer
e 32 (GuHeT & o TET d% T 3ok AferY)

< 1.60.62%

o 2.62.60%

< 3.65.32%

X 4.38.50%

Question ID : 26433080347

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.13

Ans

aﬁx+}—t:2%,?-frx5?+x—;a?rm?rwﬁ?

X 1.-2
& 2.2
X 3.1
X 4.0

Question ID : 26433075842
Status : Answered
Chosen Option : 2




O o IR x BRI 532+ 7x+5 = 08, T2 + L FIAH I BT

Ans - SE

343
182
125
496
125
125
532

& 2

< 3.

X 4.

Question ID : 26433066266
Status : Not Answered
Chosen Option : --

Q.15 %ﬂé;s.ss,ooomwm 3ifFd BT 15% ATUTRS Fe TR Ju11 3ifpd A g &) fpaan
?

Ans 7 1.Rs.46,750
&< 2.Rs.22,550
< 3.Rs.8,250
< 4.Rs.12,550

Question ID : 26433075946
Status : Answered
Chosen Option : 1

Q.16 g & et f3u T i & qwiay woef Yasi @Y W fbat gt 872
Ans 1.1

K24

X 3.2

X 4.3

Question ID : 26433075827
Status : Answered
Chosen Option : 1

Q.17 5 A R A g | g o e g sRish, fagm 3k i & U g i 126
21 afe SRieh SR e & 3UF Sieht BT SuTd 2:3 B, df 3o & I 3w o 82

Ans 7 1.42
<221
< 3.20
< 4.63

Question ID : 26433072970
Status : Answered
Chosen Option : 1




Q.18 forft ey & T WiNg ITP! Fa AR BT 20% T AH 3R AW A H7 85% T PA F
91¢ Rs.120 T &1 URY H 39 U a1 iy i

Ans X 1.Rs.500
< 2.Rs.1,200
« 3.Rs.1,000
< 4.Rs.800

Question ID : 26433063455
Status : Answered
Chosen Option : 3

Q.19 g H 9V TP YS! 6:30 WRTET WR K BT 3R 90 .71 /eeT F} A1et § Ia1 3Ry Il 8
| T 37T YATS! 7:30 IWRTeA W foig K & fig H # oiik 72 for e Y wner @ werm
SRY B 21 T Yermisar fig J W 11:30 SMURTe WR et 81 HJ 94T KJ g8 &1
3T T 8?2

Ans X 1.5:16

& 2.25:16
X 3.36:25
X 4.31:19

Question ID : 264330105701
Status : Not Answered
Chosen Option : --

Q.20 ﬂﬁsecﬁfzcosﬁ=gﬁaﬁﬁﬁmﬂﬂ'm% ar secH F AT AT T
Ans X 1.5

< 2.6

o 3.4

X 4.8

Question ID : 26433066265
Status : Not Answered
Chosen Option : --

Q.21 oif BT fdpf 8v2 cm B 1 T ga¥ TR o &1 faspof Ja IR e e tga ot &
TEd B faT 81

At X 1. 843 em
X2 842 cm
X3 845 cm
v 4 846 cm

Question ID : 26433065012
Status : Answered
Chosen Option : 4




Q.22 TH WY BT AF-INUTE 8% & ATY TR 3R AV 4% FT &1 W =41 71 411 fe Hof Forares
Rs.600 T AT 31T, a1 TU BT Yo [T BT

Ans X 1.Rs.15,000
«” 2. Rs.12,000
/< 3.Rs.18,000
< 4.Rs.6,000

Question ID : 26433065066
Status : Not Answered
Chosen Option : --

Q.23 gl ATt BT AT 18 § 3R IAHT HgaH YUIUGAD (HCF) 3R Tgad [HIIad (LCM)
U 3 3R 54 §1 3P opul BT TN T M2

Ans . 1
X1 —
7

x 1
2. —
1.

1

o3 —
9

_ 1
a4 =
6

Question ID : 26433079828
Status : Not Answered
Chosen Option : --

Q.24 ¢os2 15° BT A T 2?2

A x 1. @
2

o2 2+43)
4

Xs.w
2

X4 (2++3)

Question ID : 264330105893
Status : Answered
Chosen Option : 2




Q.25 13 & 77 arfreT uia gPETER! §RT 3 TE Sagpaes B B HI i 21

ZFACR | FAFA
S1 40
52 60
s3 55
sS4 35
S5 80

S5 GRT 3 T FAPAeR P! B, S1 §RT I T Fagpaex It T $T fra-n ufawra 32
Ans X 1.150 Ufa=Id

« 2. 200 Ufcr=rd
X 3. 50 Ufawd
X 4. 100 Hfc=rd

Question ID : 264330105719
Status : Answered
Chosen Option : 2

Section : English Comprehension

Q.1 Select the sentence which does NOT have a spelling error.
Ans X 1. The art and science of designing buildings is called archtiecture.

«” 2. The art and science of designing buildings is called architecture.
/< 3. The art and science of designing buildings is called architecchure.

5 4. The art and science of designing buildings is called architectrue.

Question ID : 26433060924
Status : Answered
Chosen Option : 2

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

A group of stars having a particular shape
Ans X 1. Orbit

< 2. Galaxy
75 3. Planet
«” 4. Constellation

Question ID : 26433072802
Status : Answered
Chosen Option : 2

Q.3 Select the option that expresses the given sentence in passive voice.
Did Rani call you?
Ans X 1. Are you called by Rani?
/< 2. Was you called by Rani?
«” 3. Were you called by Rani?
/< 4. Did you called by Rani?

Question ID : 26433093526
Status : Answered
Chosen Option : 4




Q.4 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error. If you don’t find any error, mark ‘No error’ as your

answer.
| am having trouble / deciding in / a gift for them. / no error
Ans & 1. deciding in

< 2.1 am having trouble

25 3. No error

< 4. agift for them.

Question ID : 26433073832
Status : Not Answered
Chosen Option : --

Q.5 Select the correct direct form of the given sentence.
Professor told me that | could not rescue myself from that bait.

Ans X 1. Professor says to me, “You cannot rescue yourself from this bait.”
25 2. Professor said to us, “You cannot rescue yourself from this bait.”
< 3. Professor said to me, “You have not rescued yourself from this bait.”

«” 4. Professor said to me, “You cannot rescue yourself from this bait.”

Question ID : 264330104644
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate synonym of the given word.
Inherent
Ans o 1.Inborn
X 2. Increase
75 3. Conclusion
< 4. Superficial

Question ID : 26433072193
Status : Not Answered
Chosen Option : --

Q.7 Select the INCORRECTLY spelt word in the following sentence.
Rather than being aggressive, you should be accomodative, magnanimous and

benevolent in nature.
Ans X 1.aggressive

o 2. accomodative
3. magnanimous

< 4. benevolent

Question ID : 26433058611
Status : Answered
Chosen Option : 3




Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

A small island
Ans X 1. Closet

o 2. Islet
/< 3. Lagoon
X 4. Isthmus

Question ID : 26433070711
Status : Answered
Chosen Option : 3

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

A huge building with a spacious area to house aircrafts.
Ans X 1. Hanger

< 2. House
«” 3. Hangar
< 4. Airport

Question ID : 26433060104
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate synonym of the given word.
Belief

Ans X 1.Promise
« 2. Faith
25 3. System
< 4. Religion

Question ID : 26433070621
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate ANTONYM of the word leisure from the given sentence:
After my working hours, | use my leisure time to take care of my flower garden, dig my
restricted land, sow seeds and water the plants for proper growth and development.

Ans X 1.development
«” 2. working
< 3. growth
25 4. restricted

Question ID : 26433058562
Status : Not Answered
Chosen Option : --




Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
Both Reeta and Ronika / has won / the dance competition / this year.

Ans X 1. this year.
/< 2. the dance competition
/< 3. Both Reeta and Ronika

«” 4. has won

Question ID : 26433086309
Status : Answered
Chosen Option : 4

Q.13 Rearrange the parts of the sentence in correct order.
The decision not

P. to include any kind of wealth or

Q. crisis, has proven controversial

R. income tax, which would be the fairer option

S. for solving the social care funding

Ans 7 1.PRSQ
X 2.QPRS
X 3.RSPQ
X 4.SQPR

Question ID : 264330104661
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate idiom that can substitute the italicised words in the given
sentence.

The world needs a global leader who can hold out a gesture of peace
Ans X 1.agrass widow
/< 2. halcyon days
” 3. an olive branch
25 4. mother wit

Question ID : 26433060510
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate option to fill in the blank and complete the collocation.
Always bein ____~ with your near and dear ones as life is uncertain and fragile.
Ans X 1. communication
25 2. relation
75 3. connection

«” 4. touch

Question ID : 26433073567
Status : Answered
Chosen Option : 1




Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

| am working hard in order to earn a decent living.
Ans X 1. purchase a reputed life
«” 2. No substitution
/< 3. earning a better living

5 4. buying a decent living

Question ID : 26433087894
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate synonym of the given word.
Fatigue
Ans 7 1. Tiredness
25 2. Feebleness
/< 3. Effort
< 4. Loaf

Question ID : 26433071834
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

The young boy was born with a silver spoon in his mouth.
Ans X 1. born with a spoon that was not of gold

< 2. born to not so rich parents
«” 3. born to riches and luxury

< 4. born with a spoon stuck in his mouth

Question ID : 26433072226
Status : Not Answered
Chosen Option : --

Q.19 Select the option that expresses the given sentence in passive voice.
The company sold the newly introduced car to the highest bidder.
Ans X 1. The newly introduced car sold to the highest bidder by the company.
«” 2. The newlyiintroduced car was sold to the highest bidder by the company.
5 3. The newly introduced car has sold to the highest bidder by the company.
5 4. The company sold the newly introduced car to the highest bidder.

Question ID : 26433088946
Status : Answered
Chosen Option : 3




Q.20 Select the most appropriate collocation to substitute the underlined word in the given
sentence.

We congratulated him at his new job. He was delighted.
Ans X 1. congratulate him with

/% 2. congratulate him along
¢ 3. congratulated him on

25 4. congratulate him up

Question ID : 26433072098
Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1) of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2) , and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3) . Potential migrants will not only (4)
whether or not to migrate, but also where they will go. Individuals with (5) observed
and unobserved features will make diverse decisions and self-select into specific areas.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans X 1.glimpse
& 2. break
< 3. ahead
« 4. dawn

Question ID : 26433084805
Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1) of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2) , and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3) . Potential migrants will not only (4)

whether or not to migrate, but also where they will go. Individuals with (5) observed
and unobserved features will make diverse decisions and self-select into specific areas.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.joins

< 2. chains
o 3. ties
X 4. fights

Question ID : 26433084806
Status : Answered
Chosen Option : 2




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1) of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2) , and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3) . Potential migrants will not only (4)
whether or not to migrate, but also where they will go. Individuals with (5) observed
and unobserved features will make diverse decisions and self-select into specific areas.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans X 1.uniform
X 2. assorted
/< 3. constant

o 4. diverse

Question ID : 26433084807
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1) of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2) , and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3) . Potential migrants will not only (4)
whether or not to migrate, but also where they will go. Individuals with (5) observed
and unobserved features will make diverse decisions and self-select into specific areas.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans X 1. certify
X 2. settle
& 3. determine
& 4. induce

Question ID : 26433084808
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Human migration may be traced all the way back to the (1) of time, and humans
have been on the move ever since. Climate change, war and displacement, economic
considerations, living conditions, family and clan (2) , and, more recently,
educational possibilities are all reasons for migration. Because there are several reasons for
migration, migration patterns are (3) . Potential migrants will not only (4)
whether or not to migrate, but also where they will go. Individuals with (5) observed
and unobserved features will make diverse decisions and self-select into specific areas.
SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 7 1.varying
/5 2. experiencing
/< 3. considering

5 4. convincing

Question ID : 26433084809
Status : Not Answered
Chosen Option : --
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